SECOND YEAR HIGHER SECONDARY
FIRST TERMINAL EXAMINATION - 2024

. PART Il - GEOGRAPHY
Maximum: 60 Score Time: 2 Hrs
— Cool-off Time: 15 Mints
Answer any five from 1 (o 7, Each carries 1 score (5X1=5)

1 qoma 7 UDOWY@G GanaymAcd agaoeliels 5 apspamle’ pomosaemea. 1 aquad alms

Identily the name of the geographer who defined Human geography as the study of the changing relationship
between the unresting man and the unstable earth.

BIMA Q’jJﬂJJJ’.‘INa AR MBMRITHmIE BdHYWe ETUCINHIW G2 merlejes 10lasadrelalosmm
MUIMLODD HOl a5 alome apom” mldntalla) @mha)a‘ggmmna

(A)Vidal de la Blache = (B) Ratzel (C) Ellen C. Semple (D) Griffith Taylor
(A)onaves avl en mpaar  (B) oagimuel (C) agyead au) milsniod (D)anion” easeid

N

- Which among the following is a primary activity ?
mIae amamlalaammanlad ARDIOTT AW (oIS TVINIGHdh JUGEmMe ?

(A) Hunting (B) Trade () Transport (D) Tourism
(A) maang”  (B) anmlaye (C) wmanma (D) anemaa nuamns
3. The economist who introduced the concept of Human Dcveld]jmem.
23 ATV afan GRyDe amnidla fla) codouomila, an@gmma
(A) Rarzel (B) Mahbub-Ul-Haq (C) Semple (D) Ritter
(A)oogirusd (Blaonomymt’ gud anal’ (C) avImilud (D)alsad

4, A pull factor of migration
SSICWROMINNG S @YhAadich "EiSdha
(A) Earthquake (B) Poverty (C) Flood (D) Employment opportunities
(A) @aoue  (B) s0a1gse (C) scugaaqiane (D) smo¥lad quaw i

o

. First complete census in India was conducted only in,
SHIYODE] FELHTT TUMYAEN HEMnIE] HEMaadga] MSan wdae
(a) 1871 (b) 1861 (c) 1881 (d) 1891
. An example of a mining town.  aimm mueEWIM” HRIAOBEM
(a) Ambala (b) Varanasi (c) Shimla (d) Digboi (A) Gresmizer (B) anosmamil (C) mloes (D) auluieanna”

&

7. Largest language group in India. smmjolaer ceflo eimt éigoamic

(A) Dravidian (B) Austric (C) Indo European (D) Sino Tibetan
(A) ganauwlwad (B) aymylon” (C) madeowd ageooalynd (D) mNemd slasngad
Answer any seven questions from 8 to 16. Each carries 2 score. (7X2=14)

8 g@ad 16 sngan cang)smgnd agamalej 7 agapomn’ gamoang@a. 2 epad almo
8. Prepare a brief note on Mediteranian agriculture
e20019enMImM GAHINW difla] 921 dolof @YD,
9. Thé concept of Neo-determinism (stop and ga determinism) is very significant today. Justify this statement.
mal alw1nled Pmoe afIm ERUDEEIM. FM” a@e0 @ JTVMMIEEME D @ JTYINM qUILRO ]l
10. Distinguish between productive and protective [arming.
MMM dhatilo DBalIBhdAIGs Bailage CROMAY Dalgjed.
11. Write the different names of shifting cultivation?
UNIMITDA HaHIAHS NIYTITY Ca IOLLUS n) S D
12. What is mixed farming.
aqsT TuaElY @yl ?
13. How are the countries classified on the basis of human development index.
anmnl aflamum ayallaqas aslaunmomlol RSO agamam Moo Galanlo



14. Distinguish between CBR and CDR.
CBR & CDR manmays RETL T
15. Name any two sub fields of Economic geography.
UM, (FERIYONNT AGaDETE) 06 DalUdIUHZDS e
16. Write four streams of migration
@sleagamlaa mael m1ga (0101e0) afEDe:
Answer any seven from 17 to 25. Each carries 3 score- (7X3=21)
17 gomd 25 nisowas eansysmglad agamaleje 7 o) sPOTIIm ADOINGD. 3 amod almo

17. List out Human Development Pillars and Explain any one
20mal AlaaumEm e SmM:ag o 15lhan game: nEamEse) smlam &0lsf niliolaas,

18. Differentiate natural growth of population and Actual growth of population.
133900, ERMAVealy NIBajge MINIAMO RMTUoAL AUGBaWe DINESI DIYB|IMVo af) $Dn

19. Discuss the three stages of demographic transition.
2mmveal) alsludomm milamamload 3 ceigaErud alda) Halgd

20. Identify the Indian towns on the basis of evolution.
maﬂsmomrmmg AnSImuoImaIEd Ny MUEEBHS maom1elaas,

21. Explain about the three distinct cropping seasons in India.
o wilael g’ @dmilde eiekmud alwalscland.
22. Some countries have very low human development index. Write reasons
afles pagyemgas admar allaaum mgpﬂ&a, OO HNNUIETN’, IBEMEMUT ) $D3
23. Write a note on plantation agriculture.
@I58 &eHlD 30laf B0lagje@me:
24. Distinguish between Push and Pull factors of Migration.
SS1CWQOIIOTY Gy Batid "eISE6ImRe Allddatian PEISHEMBe MIOMBJo Haldh
25. The working population of India according to their economic status is divided in to three. Explain
Tuamiamls: mutidmlges meslrucomanlal momiwlae smaelenal 2mameg gmmoal ®1a)Ende.
0N aalans,.
Answer any five from 26 ta 32. Each carries 4 score. (5X4=20)
26 gt 32 amoss eansyangll agamasiele 5 npemaia’ pamosag®ea. 4 e1pad alms
26. List out the problems facing Indian agriculture.
DAY 503 casuel emalgam iRemag aIglendniSEma,
27. Discuss the features of clustered and semi clustered settlements in India.
ca@lam, arday eamlam QIBTUTUORISTEENS (AJCM§ U3 alda) @) 21
28. There are four distinct phase of population growth identified in India. Explain any two.
DM mMTUealy UaBajuas mig tLigsanglol Apemenlejo aomesmaTNAa0lal allualea
29. Write a short note on Basic need approach and Capability approach in human development.
2ma) afla:qumam1ang mSITundm @) (ualaiaom ca,m_-ﬁc. $304CWaH1 MBTIDOTD &Olaja Ol gma,
30. What are 'the factors affecting mining activities. Explain
UMM (ajaudammeamas MuPWIMISRaD feISHaE3 sRAMEe ailniolend
31. Discuss the geographical factors influencing the distribution of population.
znavasly llmnamaom quRwlmlasam @m'luaaqg AQISOTBOE S0]af 23] DalGD:

32. 1dentify and locate the following on the given outline map of India.
®a% manlalasannt gl y amn’ HanyQes g isomles ASWIGA SIS

a) The state with highest population density b) The largest urban agglomeration
2NTVIB® 251 TVeaUNIMe ] aBQ0de QIR Mmno Ugafive
c) The most populous state in India. b d) The state having the highest urban population

2NTLaI) @S1W MeduoXNa n{Q0j @SOS MU EMTUAIIESS TUTUOIMa



QNo: 32 ) QNo: 32
INDIA
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